PCI CARD

.n r i r ﬂ.ﬂ_\\b\m‘ ..U: Fr
... ._..«!..\H.\ ..". L .ﬁm.“\““-.h‘

Ly \\... ! ....

SIDE PANEL
MOTHERBOARD

=t | A T
|Ivh;ﬂ._|.._.|..n..ruﬂ.m..”......_ 1
—

Stand-off x 3
Cable Tie x 10

MB

TEMPERED GLASS EE-AT.

Screw M3 L5 x 8
2.5"SSD
Screw #6-32 L.27.5 X 8

FAN

Screw M3 L9.5 x 12
2.5"SSD/HDD

Screw #6-32 L8.5 x 4
3.5"HDD

3216 x17

% RALJINTEK

L
R4
L]
Screw 6-32 L6 x 4
PSU
=
,

Screw #6




